A Baylor Heart and Vascular Hospital study (http://www.dallasnews.com/lifestyles/health-and-
fitness/health/20140821-broke-college-kids-beware-haylor-study-links-instant-noodles-to-
health-hazards.ece) in the United States that linked instant noodles consumption by South
Koreans to some risks for heart disease. If they made this realization by looking at someone’s
heart health score and the number of cups of noodles they eat per week what would the
variable(s) be in this study and what type(s) would they be?
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When looking for a mate men and females have different tastes. On average, from student
surveys, I've found that men prefer females to be about 5’ 6” and females prefer males to be
about 5’ 11”. What would the variable(s) be in this study and what type(s) would they be?
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Below is a table of the number of goals seen in a random sample of 62 English Premier League

games in 2013. Fill in the relative frequency and percentage column and write a sentence about
the frequency data.

Number of Goals | Frequency | Relative Frequency Percentage
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4. |ate agiant bag of M&M'’s and | kept track of how many of each color | saw and recorded it in
the table below. Fill in the relative frequency and percentage column and write a sentence
about the frequency data.

Color Frequency | Relative Frequency Percentage
e i lagy =.20m3m1 | 20779
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5. Draw a bar graph for the data in question three; include appropriate labels.
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6. Draw a pie chart for the data in question four; include appropriate labels.

Mémlé' by Colov

7. Draw a side by side bar chart for the following data; include appropriate labels and write a
sentence about your results

Gender | Sex within the last 24 No sex within the last 24 hours | Total
hours
Male 5 6 11
Female |7 30 37
Total |12 36 48
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Draw a histogram for the following data about the percent of drunk drivers caught by having an
accident vs other from , using bars with 5% width; include appropriate labels and write a
sentence about your results and make a statement about how the graph is skewed.

26%, 20%, 22%, 17%, 18%, 13%, 10%, 14%, 8%, 11%, 7%, 7%, 4%, 5%, 3%, 2%, 4%, 5%, 1%
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Fox News has been known, along with other networks, to use misleading graphs to tell a version
of news that fits their agenda. (http://simplystatistics.org/2012/11/26/the-statisticians-at-fox-

news-use-classic-and-novel-graphical-technigues-to-lead-with-data/) What is misleading about

these graphs?
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10. Describe the shape of the following histograms and circle the correct inequality or equality

Graph

Shape (Name the Shape)

Mean and Median (circle
one)

el Shoped

@ mean = median
b. mean < median

c. mean > median
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11. Below is the data for the number of absences per student in a boring, non-Statistics 201 class.
Please calculate the following numerical summaries:

0,01,1,1,1,2,3,3,4,4,4,4,6,6,6,7,8,8,9,9,9
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12. Below is the data for a sample of the attractiveness ratings, on a scale from 0 to 10, for you by
your peers in Stat 201. Please calculate the following numerical summaries:

6,6,6,6,6,6,7,7,7,7,7,7,7,7,7,8,8,8,8,8,8,8,8,8,9,9,9,9, 9, 10, 10, 10, 10, 10, 10

Note: Y x =276
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13. Draw a box plot for the data in question eleven; include appropriate labels and comment on
how the graph is skewed.
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14. Draw a box plot for the data in question twelve; include appropriate labels and comment on
how the graph is skewed.
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15. Fill in the values according to the Empirical Rule.
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16. Suppose that the distribution of the average number of ‘hook-up’ partners per year during

undergraduate studies is known to be bell-shaped and symmetric with a mean of 7 and a
standard deviation of 2.

a.

What percentage of undergraduates averaged more than five ‘hook-up’ partners per
year during undergr@'iuate studies? »C0% 5EQ+34= 8M
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b. What percentage of undergraduates averaged less than three ‘hook-up’ partners per
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year during undergraduate studies?
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d. What percentage of undergraduates averaged between three and nine "hook-up’
partners per year during under;raduate studies?
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f. 84 percent of undergraduates averaged more than what number ‘hook-up’ partners per
year during undergraduate studies?
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i.  Whatis the z-score of an undergraduate that averages 10 ‘hook-up’ partners per year
during undergraduate studies? Is this an outlying observation?
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j- What is the z-score of a student that averages 16 ‘hook-up’ partners per year during
undergraduate studies? Is this an outlying observation?
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k. What is the z-score of a student that averages 5 ‘hook-up’ partners per year during
undergraduate studies? Is this an outlying observation?
Zs 321 = |
X
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I. What is the z-score of a student that averages 0 ‘hook-up’ partners per year during
undergraduate studies? Is this an outlying observation?
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m. What is the z-score of a student that averages 7 ‘hook-up’ partners per year during
undergraduate studies? Is this an outlying observation?
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